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Water Saving Irrigation Division Scheme in Yangling

REN Chun—ping, DU Min, LI Tao

(Institute of Soil and Water Conservation, Northwest Sci-tech University of A griculture and Forestry,

NERC of Water Saving Irrigation in Yangling, Yangling 712100, Shaanx i Province, China)

Abstract: The Yangling district is one of the key national water saving demonstration zones. Based on the

importance of the water saving division, the step-by-step analysis method was adopted, judged by the

combination of calculation in quantity with experience in quality, the authors put forward the water saving

division scheme in Yangling. The results showed that the district can be divided into three areas, at the

same time, the basic situation and the water saving development direction and techniques of the three areas

were discussed in detail.
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1 H=1 HM= 1 YM= 0.9928638 10 H=1 HM= 1 YM= 0.5264483
2 H= 1 HM= 1 yM= 0.8021948 11 H=1 HM= 1 yM= 0.7731546
3 H=1 HM=1 YM= 0.7959562 12 H=1 HM= 1 YyM= 0.9315219
4 H=1 HM= 1 YM= 0.7504371 13 H=1 HM= 1 YM= 0.8431061
5 H= 1 HM= 1 YM= 0.9290454 14 H=1 HM= 2 YM= 0.5727882
6 H=1 HM= 2 YM= 0.8943596 15 H=1 HM= 1 YM= 0.7835149
7 H=1 HM= 1 YM= 0.6123991 16 H=1 HM= 1 YM= 0.980496
8 H= 1 HM= 1 YM= 0. 6463461 17 H=1 HM= 1 YM= 0.9975071
9 H= 1 HM=1 YM=0 R5910R89 18 H=1 HM= 1 YM= 0 9544925
19 H=1 HM= 1 YM= 0.9886822 45 H=2 HM= 2 YM= 0.7269973
20 =1 HM= 2 YM= 0.7916889 46 H=2 HM= 2 YM= 0.5845708
21 H=1 HM= 2 YM= 0.7785023 47 H=2 HM= 2 YM= 0.8487453
22 H=1 HM= 2 YM= 0.8429572 48 H=2 HM= 2 YM= 0.7504631
23 H=1 HM= 1 YM= 0.9804221 49 H=2 HM= 2 YM= 0. 845645
24 H=1 HM= 1 YM= 0.9897983 50 H=2 HM= 2 YM= 0.6037196
25 H=1 HM= 1 YM= 0.9860723 51 H=2 HM= 1 YM= 0.9382354
26 H=1 HM= 1 YM= 0.9741502 52 H=2 HM= 2 YM= 0.7212997
27 H=1 HM= 1 YyM= 0.9753802 53 H=2 HM= 3 yM= 0.9531142
28 H=1 HMm= 1 yYM= 0.854143 54 H=2 HM= 2 yM= 0.7270838
29 H=1 HM=1 YM= 0.9800404 55 H=2 HM= 2 YyM= 0.909639
30 H=1 HM= 2 YM= 0.6444791 56 H=2 HM= 2 YM= 0.6135115
31 H=1 HM= 2 YM= 0.6585359 57 H=3 HM= 3 YM= 0.999713
32 H=1 HM= 1 YM= 0.9810434 58 H=3 HM= 3 YM= 0.99148
33 H=1 HM= 1 YM= 0.9826376 59 H=3 HM= 3 YM= 0.9137765
34 H= 2 HM= 2 YM= 0. 6606633 60 H=3 HM= 3 YM= 0.7453624
35 H= 2 HM= 2 YM= 0.8976102 61 H=3 HM= 3 YM= 0.5583337
36 H= 2 HM= 2 YM= 0.7016385 62 H=3 HM= 3 YM= 0.9895968
37 H= 2 HM= 2 YM= 0.5075376 63 H=3 HM= 3 YM= 0.9933615
38 H=2 HM= 2 YM= 0.7389662 64 H=3 HM= 3 YM= 0.9643666
39 H= 2 HM= 2 ym= 0.7393078 65 H=3 HM= 3 YMm= 0.9892216
40 H=2 HM= 2 YM= 0.9601481 66 H=3 HM= 3 YM= 0.9694172
41 H= 2 HM= 2 YM = 0.7961435 67 H=3 HM= 3 YM = 0.4843343
42 H= 2 HM= 2 YM= 0.6095639 68 H=3 HM= 3 YM= 0.9108423
43 H= 2 HM= 2 YM= 0.9773472 69 H=3 HM= 3 YM= 0.9982135
44 H= 2 HM= 2 YM= 0.8929462 70 H=3 HM= 2 YM= 0.5839921
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